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5.2.20.

T 21-26. Approximating net area The following functions are positive and negative an the given inferval,
Sketch the function on the interval,

b, Approximate the nat area bounded by the graph of £ and the x-axis on the interval using a left, rght, and midpoint Riemann sum with n = 4,

€. Use the sketch in port (g} to show which intervals of {a, b] make positive and negative contributions to the net area.

21. fix)=4-2xon[e, 4]
2. fix}=a-2xon[0, 4]
23. fix)=sin2xon o, : n]

3
24. fx)=xion[-1,32]

5. f{x)=tan=? (3x-1)on[o, 1]

Fi

. flx)=xe*on[=1,1]
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27-30. Area versus net area Groph the foilowing functions. Then use geometry (nef Riemana sums) to find the area and the net area of the region described,

27. The region between the graph of y = -3x and the x-axis, for -2 €x <2

28. The region between the graph of y = 4x - 8 and the x-axis, for -4sx 58
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T 31-34. Approximating definite integrals Complete the following steps for the given integrol and the given value of n,
a. Sketch the graph of the integrand on the Interval of integration,
b. Colcwlate Ax and the grid points kg, Xy, ..., X, GssUming a regular portition.
€. Caoicuimte the left and right Riemann sums for the given value of n.

d. Determine which Riemann sum {left or right) the value of the definite integral and which overestimates the value of the definite integra
. [S{i-20dan=6
32, [Jp-2)dn=a
;1
33 [[den=
-I[lﬁ’
34 [T cosxdign=a
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. [g-2x)ax
a0, [2, 2xegpax
ar [2 (= 1xpax
az. [Lj1-xjdx

a3, [3y16 -7 ax
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51. Properties of integrals Use only the fact thar ,r';3 % (4 - ) dx = 32, and the definitions and preperties of integrals, to evaluate the following integrals, if possible, ',
a Jr; 3x(4=x)dx
b. Jr? xix—4)dx
[ Jris_vu__\]cr.-
d [}ax(a-xjdr
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; 69. Explain why or why not Determine whether the following statements are true and give an explanation or counterexample.
. 2 - ‘09 r b a. Iffisaconstant function on the interval [a, &], then ¢ and |eft Riemann st
b. Iffi mar m gi T an
o) §ce » Y cdx-clog  on
m d. IF | Zfix)dv=
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o4 Zero et area Assuming 0-<c <d, find the value of b (in terms of ¢ and o for which [ (x +5) de=0
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